# 

 $\begin{array}{c} \mathbf{L} \\ = \mathbf{v} \mathbf{v} - \mathbf{v} + \mathbf$ 

 $\frac{1}{2} = \frac{1}{2} + \frac{1$ 

# 457

## L

С

 $\frac{1}{2} = \frac{1}{2} + \frac{1$ 

# **457**

Brian Arthur

Financial Representative

279-200-5672 cell

barthur@schoolsfirstfcu.org

## ΜΙ

11 - + r · · J 

۲,

,

#### Α

▼ · |) 1' ' ▼ - ( ---- 1' · ·

#### M H C E

W 'F'' + ''' W - T' + '''

#### ۲,

 $\exists \mathbf{v} : \mathbf{v}' = \mathbf{v} \cdot \left[ \mathbf{v}' \cdot \mathbf{v} : \mathbf{v} \neq \mathbf{w} \right] \mathbf{v} \cdot \mathbf{v}' = \mathbf{v}' \cdot \mathbf{v}'$ •••-+ ·- ··

 $\sum_{i=1}^{n} (i + i) = \sum_{i=1}^{n} (i + i)$ 11 - ++1"

BFiantAnthe> <Last name>